

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			EV 536-GLP - 4-PACK		
EFG					
1	2	EV2LXPL4225	42"h x 25"w, Left, Laminate 2 Way Extention Gallery Panel End, Connects at 1 End at 90 Degrees to an Extention Panel, Finished on Both Ends, Connecting Hardware not Included	\$ 371.00	\$742.00
			Skipped Option		
			Skipped Option Skipped Option		
			Skipped Option		
2	2	EV2LXPR4225	42"h x 25"w, Right, Laminate 2 Way Extention Gallery Panel End, Connects at 1 End at 90 Degrees to an Extention Panel, Finished on Both Ends, Connecting Hardware not Included	\$ 371.00	\$742.00
			Skipped Option		
			Skipped Option Skipped Option		
			Chipped option		
3	2	EVE8CP16	16" - Jumper Cable, Panel to Panel	\$ 136.00	\$272.00
			Skipped Option		
4	1	EVE8CP18	18" - Flexible Mesh Jumper Cable, Used to Connect 2 Power Distrubution Housings Separated by Post	\$ 156.00	\$156.00
			Skipped Option		
			Skipped Option		
5	1	EVE8FR1	72" Long, Floor Power Entry, Front Fed, Snaps into Knockout of Base Raceway	\$ 367.00	\$367.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
6	2	EVE8PD24	24", Power Distribution Housing	\$ 163.00	\$326.00
			Skipped Option		
7	2	EVE8PD48	48", Power Distribution Housing	\$ 257.00	\$514.00
			Skipped Option		
8	2	EVE8RD1	#1 Utility Circuit, Duplex Receptacle, Black	\$ 36.00	\$72.00
			Skipped Option		
9	2	EVE8RD2	#2 Utility Circuit, Duplex Receptacle, Black	\$ 36.00	\$72.00
			Skipped Option		
10	2	EVE8RDA	A, Dedicated Circuit, Duplex Receptacle, Black	\$ 36.00	\$72.00
			Skipped Option		
11	2	EVE8RDB	B, Dedicated Circuit, Duplex Receptacle, Black	\$ 36.00	\$72.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
12	4	EVHCB2	Corner Brackets Left and Right (Pair)	\$ 31.00	\$124.00
			~STD Standard Paint Colors Skipped Option		
13	8	EVHCL2	Skipped Option 28"h x 1.5", Square Corner Leg w/ Leveler	\$ 130.00	\$1,040.00
75	J	LVIIOLZ		ψ 130.00	ψ1,040.00
			~STD Standard Paint Colors		
			Skipped Option Skipped Option		
14	4	EVHLPBB01	1.5"h x 8"w x 1"d, Laminate Gallery Panel Bottom Connecting Bracket, Connectors 2 Laminate End Panels at Bottom w/Screws, Hardware Included	\$ 47.00	\$188.00
			~STD Standard Paint Colors		
			Skipped Option Skipped Option		
15	4	EVHLPCB01	1.5"h x 4"w x 4"d, Laminate Gallery Panel 90 Degree Corner Bracket, Hardware Included	\$ 46.00	\$184.00
			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
16	4	EVL2PBF18MIT	18"d x 15.5"w x 22"h, Laminate B/F Mobile, Pedestal, Inset Top) \$ 1,243.0	00 \$4,972.00
			~TF Laminate Top Finish Options		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			~LB Laminate Base Finish Options		
			Skipped Option		
			~DR Drawer/Door Laminate Options		
			Skipped Option		
			HFA Flat Aluminum Handle		
			Skipped Option		
17	1	EVLEPDC4251NC	42"h x 51"w, Laminate Gallery Panel Double Sided Middle, w/Base Electrical Cutout, Attaches Inbetween 2 Panels, Both Ends are Finished & Does not Connect, Connecting "U" Channel not Included	\$ 875.00	\$875.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
18	2	EVLEPDS4275	42"h x 75"w, Laminate Gallery Panel Double Sided Connector End, Both Ends Connect to a Laminate Extention Panel, Starts & Ends a Run, Connecting "U" Channel & Connecting Hardware not Included	\$ 1,110.0	0 \$2,220.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
19	4	EVLPSTC1518	15.5"d x 18"w x 1"h, Mobile Pedestal Cushion, For Use with Inset Top Mobile Pedestals	\$ 304.00	\$1,216.00
			~GR01 Grade 01		
			Skipped Option		
			Skipped Option		
20	2	EVLXPML4236	42"h x 36"w, Left, Laminate Straight Extention Gallery Panel End, Connects to Double or Single Sided Connecting Panel on One End & Other Side Connects to 2 Way Laminate Extention Panel, Connecting Hardware not Included	\$ 502.00	\$1,004.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
21	2	EVLXPMR4236	End, Conn One End 8	w, Right, Laminate Straight Extention Gallery Panel nects to Double or Single Sided Connecting Panel on the Other Side Connects to 2 Way Laminate Extention necting Hardware not Included	\$ 502.00	\$1,004.00
				Skipped Option		
				Skipped Option		
			•••	Skipped Option		
22	4	EVPERCH42	Attaches t	Channel Connector w/Pass Thru for Power at Base, to Laminate Gallery End or Middle Panel, 1 Required d 2 Required in Middle	\$ 172.00	\$688.00
			~STD	Standard Paint Options		
			~STD	Inline Connectors (Use w/ Matching Horizontal Reveal)		
				Skipped Option		
				Skipped Option		
23	2	EVPFAM4224	42"h x 24"	w, Monolithic Fabric Acoustic Panel	\$ 389.00	\$778.00
			STR	(STD) Panel Top Cap		
			~STD	Standard Paint Options		
			~STD	Panels w/ Matching Horizontal Reveal		
				Skipped Option		
			~GR1	Panel Grade 1		
			01	Outside Position 1		
			 ~GR1	Skipped Option Grade 1 Fabrics		
			I1	Inside Position 1		
				Skipped Option		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
24	2	EVPFAM4248	42"h x 48"w, Monolithic Fabric Acoustic Panel	\$ 572.00	\$1,144.00
			STR (STD) Panel Top Cap		
			~STD Standard Paint Options		
			~STD Panels w/ Matching Horizontal Reveal		
			Skipped Option		
			~GR1 Panel Grade 1		
			O1 Outside Position 1		
			Skipped Option		
			~GR1 Grade 1 Fabrics		
			I1 Inside Position 1		
			Skipped Option		
			Skipped Option		
25	2	EVPIC42	42"h, Inline Panel Connector, Includes Post & Hardware, No	\$ 86.00	\$172.00
20	_	200.00	Trim	4 00.00	Ų 17 2 100
			~STD Standard Paint Options		
			~STD Inline Connectors (Use w/ Matching Horizontal Reveal)		
			Skipped Option		
			Skipped Option		
26	2	EVPMP24GIP	12"h x 24"w, Panel Mount Privacy Glass, Integrated Channel Extrusion with Aluminum Top Trim for Square Glass	\$ 290.00	\$580.00
			·		
			~STD Standard Paint Colors		
			Skipped Option		
			CLR Clear		
			Skipped Option		
27	4	EVSDAOHBKTS	12"d x 2.5"w x 6"h, Inline Single Bracket (1 Side Only), Supports Laminate Center Mount Only, Includes: 1 Bracket,	\$ 94.00	\$376.00
			Aluminum Insert, Plastic Cap, Single Clamps Must Be Used		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
1			~STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
28	2	EVSDAOHL48	14.125"d x 48"w x 15"h, Left, All Laminate Center Mount Overhead, Dual Access, Center Top Mount on Panels, Aluminum Top Cap Included, Support Brackets Specify Seperately, Ships Assembled	\$ 1,195.0	0 \$2,390.00
			~TF All Laminate (Center Mount OH) Finishes		
			Skipped Option		
			~STD Top Cap Standard Paint Colors		
			Skipped Option		
			Skipped Option		
29	4	EVWS2370	23"d x 70"w, Height Adjustable Rectangular Worksurface without Scoops, (Height Adjustable Base Sold Separate), 3mr PVC Edge Trim	\$ 394.00 n	\$1,576.00
			~TF Thermally Fused Laminates (1" Thickness)		
			Skipped Option		
			Skipped Option		
			Skipped Option		
30	4	EVWS2448P	24"d x 48"w, Straight Rectangular Worksurface with Scoops, 3mm PVC Edge Trim	\$ 274.00	\$1,096.00
			~TF Thermally Fused Laminates (1" Thickness) Skipped Option Skipped Option		
			Skipped Option		
GCU			Skipped Option		
31	4	PH3T6601	Height Adjustable Table Frame, Up/down handset with Digital Readout, Crossbars expandable to match table top widths, Noto Exceed 72"w, Height range 22.6" to 48.6", HEIGHT ADJUSTABLE WORKSURFACES, PRODUCTIVITY SOLUTIONS	ot	0 \$5,020.00



ITEM C	QTY.	PRODUCT CODE			LIST	EXTENDED
			~70	70"w Height Adjustable Base		
			~72	72"w Return Not Required		
				Skipped Option		
			ALIAS S	SUBTOTAL: \$ 30,054.00		
				TOTAL EXTENDED LIST:		\$30,054.00